o o)

X/autosome ratio = 0.5

I

Sx/

*

\

Dosage
compensation @
O)' Sexual

differentiation

Q@ o

X/autosome ratio = 1

}

Sx/

tra

msl2 fra
, \ \m tra2

TRA

(TRAZ )
No ‘

dosage @
compensation
Q Sexual

differentiation

Figure 2. Diagram of the control of sex determination and dosage compensation. If the X/A ratio is equal to 1, a
regulatory cascade leads to female sexual development. In females, the presence of the SxI gene product prevents the
translation of the msl2 message and the assembly of the MSL complex. If the X/A ratio is only 0.5, absence of the
cascade leads by default to male sexual development and to the formation of the MSL complex.
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